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Ruler Postulate

Words The points on any line or line segment can be put into
with real numbers.

Example Given any two points A and B on a line, if A corresponds
to zero, then B corresponds to
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Segment Addition Postulate

The Segment Addition Postulate is used as a justification in many
geometric proofs.

Words If A, B,and C are collinear, then point B is between A and

Cif and only if = .
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Prove that if AB = C_D, then AC =BD.

Given:

Prove:

Statements Reasons
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Complete the proof.

Given: ﬁ =KM Statements Reasons

Prove: j_K =M a JL=KM a.Given
b. JL=KM b.
M
c. JK+KL= ; c. Segment Addition Postulate
L KL+M=
d. JK+KL=KL+LM d.

e. JK+KL-KL=KL+LM—KL| e.Subtraction Property of Equality

K | f. Substitution

] g j_K =M g. Definition of congruence
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Theorem: Properties of Segment
Congruence

Segment measures are reflexive, symmetric, and transitive. Since segments with the
same measures are congruent, congruence of segments is also reflexive,
symmetric, and transitive.
Examples
Reflexive Property of
Congruence

Symmetric Property of
Congruence

Transitive Property of
Congruence
¥
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Find the Error
In the diagram, AB = CD and CD = BF. B c

Examine the conclusions made by Leslie
and Shantice. Is either of them correct? A F D

Leslie
Since AB = CD and

CD = BF, then AB = AF
by the Transitive
Property of Congruence





